
CUET English Answer Key 2024
Set D

Question Number Answer Key
1 (A) - (II), (B) - (IV), (C) - (I), (D) - (III)
2 (2) had known, have visited
3 (A) - (III), (B) - (I), (C) - (IV), (D) - (II)
4 (3) flattering
5 (1) denunciation
6 (3) formidable
7 (4) genial
8 (3) (C), (A), (D), (B)

9
(1) (A) - (III), (B) - (IV), (C) - (I), (D) -

(II)
10 (1) altercation
11 (2) (D), (A), (C), (B)
12 (1) anomaly
13 (3) considering
14 (2) estranged
15 (A) - (III), (B) - (I), (C) - (IV), (D) - (II)
16 (1) by
17 (2) disrespectful
18 (2) concealed
19 (3) accede to
20 (4) (D), (A), (C), (B)
21 (4) (A), (D), (C), (B)



22 (A) - (III), (B) - (I), (C) - (IV), (D) - (II)
23 (A) - (IV), (B) - (I), (C) - (II), (D) - (III)
24 (2) (B), (D), (C), (A)
25 (3) creative writing
26 (1) she will travel widely
27 (2) (A) and (C) only
28 (D) her constant anxiety of failing him
29 (1) imbibing his style subconsciously
30 (1) Occasional

31
(1) our decisions are shaped by past
events and environmental influences

32
(2) our genetic code, upbringing and

environment

33
(3) we let go of our ego, attachments

and fixed beliefs

34
(1) our ability to make a choice is
restricted by our predispositions

35
(2) Engaging in sustained inner work

and self-awareness
36 (1) Definition of "Free Will"
37 (2) Olmec people
38 (4) drinking it as a medicine

39
(3) Only wealthy Europeans could

buy it

40
(3) chocolate was costlier than tea or

coffee

41
(3) Colombians serve hot chocolate

topped with a dollop of cheese

42
(2) became popular among the

commoners
43 (2) Coffea Arabica
44 (1) Arabica



45
(1) Hybridization is the main source

of its genetic variation
46 (3) Arabica
47 (4) Variability at the DNA level

48

(3) Due to its genetic make-up, novel
mutations do not occur in the species

Coffea Arabica
49 (3) (C), (A), (D), (B)
50 (2) quashed


